B +100m

10HTH 12:40 ¥ B

W B 164
1#H (Ja:+0. 3) 2% (A +0. 1)
JIAGL Fon' = K4 i Rk EAE Fon = K4 iz FLEk
1 616 KK (1) EEE 11.29 1 617 IR K FEES 11.70
2 AT PR KRR EERER 11.51 2 1049 A BEAQ)  fHESIE 11.92
2 74l VIR () SIERETE S 11.51 3 420 mE EAQ) REfHS 12.03
4 651 Al () JEEAES 11.53 4 1540 PejiE B (2) EREREH 12. 22
5 483 JIlA HQ) IS 11.53 5 1689 #fE  &FF(2) S SHH 12.22
6 526 fnH BEFE(1)  HIEEIEEE 11. 66 6 141 FEEE KIEB SN ST K 12.79
7 1132 HF H3) BET 11.69
8 1103 Hix WEF(3) HIKRES 11.74
3fH (J&:-0.1) 4% (&.:-0. 2)
NEAL Fon - K4 & FLEK NESE fon' = KA i Rk
1 179 EK B KL R h 12.02 1 172 HE 7 R R L 11.75
2 742 ERE FnBE(Q) SIS 12.14 2 498 (L #A(D)  HIEETER 12.28
3 527 gk i (1)  #IRRALEG & 12.21 3 1125 JRi% fEsk(2) BERH 12.28
4 1351 (AR KR(2) #idb 12.28 4 521 HHABIKQ ML E 12.32
5 1053 fEf f&RA(D) KRS+ 12. 45 5 499 miE RERE () SIS 12. 40
6 1678 =G Q) I BE T 12.50 6 1818 A% HKE(2) AU 12.61
71592 KM R (2) IR SEE 12.52 7 888 Ak HE}-(2) SIEMES 12.73
8 1541 HEfE RBZ2() JEFEPBET 12.73 8 745 Ui HAF (1) SIS R 12.88
5RE (J&:0.0) 63%H. (@ +0. 8)
MERL Fon - K4 i) RLEK NEGE +on - K4 i ROk
1 263 ik #hdi (2) HEEHE 12.32 1 744 A A (2)  HIEKPIER 12. 45
2 1365 ER AH#EQ) iRl 12. 42 2 T4T R RHEEQ)  SIEEETE S 12.76
3 261 (LK BEYR(2) AEES 12. 48 31622 yiA SFE(Q2) IR SHH 12.77
4 1212 EJROI&EE (D) AT 12.62 41624 BT BIR(2) BB HE 12. 89
5 1553 ik 22 P 12. 64 5 1539 HHT U (2) EREEEF 12.95
6 840 JLH Kf(2) HIKITE & 12.72 6 1364 &K B HIEKALH 13.00
7 1121 Am ZpEQ) EIRE 12. 80 7528 &b REQ) SR & 13.00
8 1591 KM B (2) #IRKSHwEF 12.81 8 1816 filt LB (2) HEAFELRH]T 13.10
THE (&:+1. 2) S#H (A.:+1. 3)
JEAT Fon - K4 il FLEk NERE Fon' - K4 g FLEK
1 1621 AW 132 S SEH 13.06 11076 PARIREA (2)  #gdhse 13.12
2 1211 Ay FERE(1) FEAH 13.09 2 1434 KR R () BBEF 13.23
31051 HE @LQ) KRS 13.19 3 1594 @i Be(2) #I ST 13.35
4 1108 EARMNAEIA() HiEgmES 13.29 4 1679 T PEEE(Q2) SIS 13. 41
5 1075 % () fliggdsesh 13.34 5 1138 A #ik(l) FEF 13.64
6 1191 ek BERE(2) SRR 13.35 6 1977 /A BEQ) mEHESAAT 13.86
7 1480 AM &) MK EFREF 13.48 71004 EWE S BA(2)  BIEE NS BT 13.89
OfH (J&:+1. 0) 105%H (@.: +0. 4)
NELE Fon = 4 iR ALk NEGE Fon - K4 BiE ok
1 1682 k24 0Q) IS 13.09 11121 #5 FEQ) JIKRES 13.58
2 1077 iR BEK(2)  HiEILHt 13.42 2 1119 )il RE()  HIEERES 13.81
31078 AT HEFH(2)  HIERILRF 13.68 3 1193 EHp  FyzE(2)  HIKETHE R 13.95
41005 VEE  KEfi(D  #IKEs S 13. 69 4 1050 JEX W(2) MR H 14. 01
5 1606 AM BRIk S SIEH 13.73 5 1111 JIAY #Ec (1) S FEES 14. 06
6 1817 gk FES}(2) AEIARELHIH 13.89
71114 E o Et (D) HIRRES 14.08
1148 (JE:+1.5) 1240 (A:-1.9)
JEAE Fon' - K4 i ALk NERT T - K4 e ek
11632 ETIEERKER (2) S & T 13.35 11213 AlE KEE(D)  BEAH 13.54
2 1134 #dE FEKQ) FES 13.86 2 1605 MR EIK (D) S SIE 13. 86
3 1188 P #jLh(2) Sk FEd 14. 05 3 1358 ik BAEE(1)  HIEEALE 13.97
41079 Rl HEE(2) P 14. 09 4 1352 HR #E(2) #IEdLd 14. 27
5 1355 Kz HEF(2) #igkibh 14. 18 5 1110 PrEEQ) I EESD 14. 36
6 1953 HH BE0) JIBRE 15. 29 6 1623 KR 6 (2) I SEH 14.52
71690 [N #EvE(2)  HIESEUR 14. 70
1348 (/& +0. 4) 1478 (@.: +0. 4)
QT fon = KA e RLERK NEQL ton' - K4 i) FLEK
1 1231 & HEQ) HEF 13. 74 1 1137 #EgE #£(1) iR 14.73
2 1360 {RIAT Wk (D) SIERAEE 14. 39 2 1135 AFFEZN (1) R 14. 74
3 1417 #EWH KKQ) BEF 14.57 31602 g R HIEKSEIEH 14. 77
4 1139 F e (1) =RF 14. 57 4 1820 R K (1) AT 15. 07
5 1362 =7 F() #idbs 14. 63 5 1357 {EEF (1) #IEEALE 15. 37
6 1140 i ) RS 14. 74 6 1194 (LA R ©) Sk 15.76
7 1361 AiF e FIEgALd 14.97



B +100m

1548 (J&.:-0. 5)

JEE Ffon = K4 il Fodk
1 1054 g s2i (1) MBI+ 15. 08
2 1603 HH JZ3FQ) IR SIEH 15.91
31822 ¥EH K1) EEAATHIF 15. 98
4 1102 [UF =2 I RES 16. 00
5 1633 % WHE(Q) HIEKSHR 16. 30
6 1625 T EE(2) P SIH 16. 45
%%30()]]1 W0ATH 14:35 P& B
* B 104
1 2%

7 Fon - K4 Pl FLEK NESE Fon' = KA il Rk
1 616 AF Hr (1) A& 38. 04 1179 =K B ALt 39. 22
2 10 =ZJHEa—ER(3) EBCRHI 39. 16 2 484 g < () HIETER 39. 80
3 526 ful  BEFQ) ML E 39. 26 31049 A A (2) MR F 39.81
4 473 BEME WA () P TR 39. 42 4 1125 ki RS (2) EIERAF 40. 03
5 141 EE KIE GBS K 41. 58 5 498 (LA tHAQ) HIEETES 40. 64

872 Hk MR Q) HIEWREE 6 1678 =G Q) PSR 40. 83
490 ERIMEH Q) P TEE 7 1121 Hm ZEHEQ) R 41.33

3%H 4%H

ERL Fon - K4 i) RLEK NEGE Fon - K4 i) FLEk
1 261 | EERR(2) HEHEE 40. 28 1 1191 ek BREE(2)  SIpgprErh 43.99
2 1689 FE (2 HIEKESHU 40. 86 2 1211 A B () AR 44.73
31592 KM FemE(2) SIS HE 40.91 3 1193 EHp FizE(2)  HIKKTaER 45. 37
4 1351 (LR KIR(2)  #IEkdbH 41.11 4 1134 HdE FEKRQ) EESE 45. 85
5 1212 R I&EEQ) AP 41.13 5 1138 gy #idk() R 46. 11
6 1591 KH B (2) S SEwE 42.07 6 1188 %#5¥E  F1Zh(2) Sk 46. 27
71076 PEARNEA (2)  #IEtkseh 43.93
8 1365 BA #HE () #IELd 44. 46
5%E. 6%H

JEAT Fon - K4 P FLEk NERE o' - K4 P FLEK
11004 @lE A (2) SIS 45. 68 1 523 ®iRE BA (D) #IEEIEE 43.16
2 1355 K EEE(Q) gk 46. 53 21622 A FE(©2) Sl SEH 44. 34
3 1139 HH e (1) =R 48.15 3 1119 )l RE() HIEEES 46. 38
4 1140 FMH () BEESP 49. 77 41005 EE Kl SIS 46. 97

5 1363 FR{E (1) Y 50. 64
6 1135 AFEEZN (1) EFF 53.12
71194 AR A Q) SIS 55. 65

THEL SkH

MERE Fon = 4 B ALK NEGE Fon - K4 BiE ok
1 527 &Kk M () SIEALEs & 39. 74 11078 #AF Q) #iEgdd 45. 23
2 1079 fp)Il HEE(2) SERILRF 46.72 2 1077 AR BK(2) #iEEkst 45. 33
31606 AM BRI S SEIEH 47.33 3 1605 fivA IR HIER S HE 49. 43
4 1632 EIRELKRS(2) SIS 48.95 4 1366 FiH  ME (D) #IEKALF 51.57
5 1690 [N #iE2) I SEF 49.52 5 1356 SEM M (D) #iEEde 52.13
6 1955 Pk EK(Q) HIERES 49. 90
71359 [l A (D) HIEAeE 54.91
OfH 10#H

JEAE Fon' - K4 i ALk NERT T - K4 e ek
1 1364 Kk (D it 41.72 1 1120 B Q) HIEREF 47.22
2 1051 HE 0 (2) MRS 44.74 2 1110 PriES A (D Sl REd 48.59
31108 ERWIIIEIL () HIpg=E 46. 04 3 1358 jhiH  BLEF(1)  #IEEAL 49. 01
4 1624 BTEL HIK(Q2) B S 46. 65 4 1362 =7 FHLQ) FIEgded 51.75
5 1679 THE FEE(2) HIKEBCH 47.10 5 1603 HA fZ3F1) IR SIES 54.01
6 1111 JIR #HE(1)  HiIERE 47.13 6 1048 K EE(2) MESIKT 54. 35



B +£2000m

10H7H 10:00 #{hVv—%

AAV-%  3HE
1#H 258
JIAGL Fon' = K4 i Rk EAE Fon = K4 i FLEk
1 839 Otk —%(2) HIEKITHE 5:52. 86 1 846 FiH (1) ST = 6:31. 86
2 1552 JEF Z=En(3) ERET 5:53. 38 2 1126 A KEQ) BHEE 6:35.73
3141 FEEE OKE ISR 5:54.23 3 1123 7% J&(©2) &P 6:36. 69
4 15 # K (4)  EHOCHIEE 5:56. 03 4 1131 =mEEFHAH () FHEF 6:49. 37
5 892 AH (1) SRR E 5:57.19 5 4512 M AHFL SIS Hh 5 [t 6:52.57
6 484 FHE V<) HIELES 5:59. 22 6 1006 HMEH BEHE(1) SIS 6:55. 72
7 1375 ‘gl &4 (3)  #IEEALt 5:59. 87 7 842 #J7 BHth(2) KT & 6:57.16
8 889 iy b3k (2) HIEWIES 6:01.86 8 1988 (L K (©2) wHFEZA T 6:58.13
9 873 A ZR(2) HIEKMEER 6:06. 82 9 268 M ZEARQO) HEEE 7:01.95
10 481 A HBAQ) HILCES 6:10. 37 10 1004 &=l A (2) SIEEEsEE 7:03.39
11 872 #Hk HEE () HIEKMES 6:14. 18 11 1124 FR 2@ BHES 7:05. 24
12 871 H)II RE (1) SIS 6:16. 87 12 1120 #&B HEQ) HIEZEF 7:05.37
13 877 WRIH PN (2) HIEKMEES 6:23. 06 13 1213 @IF  KFEQ) X 7:06. 02
14 1052 AH #HE(Q2) MHESIKF 6:28. 42 14 1356 ZFEH (D) #IEALd 7:08. 00
15 891 ¥y FEK()  HIEKMEES 6:31.45 15 840 FLH  Kifi(2) KT R 7:16.52
16 890 #vA E (1) HIEKMES 6:38.03 16 844 HE KBO) HIKITER 7:17.58
17 887 )l H(2) IR S 6:53.91 17 1050 FEX W(2) MRS+ 7:22.77
18 879 MG IHB() #HIEKMEES 7:00. 90 18 1431 &EF AEFt(1) #ETF 7:24. 37
19 893 fREIR A () HIREE 7:01.08 19 485 el Fth (D) SIS 7:26. 64
20 472 ZHEiRE FFR(2) I ¥ 7:25.10 20 1130 A KB BERE 7:26.91
21 878 AR HEER (1)  SIEIHIRES 7:25. 80 21 1233 [ ZEth(2) XS 7:27.03
22 1505 RRH  OREE(1) SIS T 7:28.58 22 1801 {#H:  FEER (1)  BIEE BT 2 7:54. 02
1003 xR (2(2) HIERHEEHES 23 1976 KiBEIELL(1) EPFESAT 8:25. 36
3#E
ENE o= K4 e FLEk NERE Fon' - K4 P FLEK
11639 fEk ¥ (2) S SEH 6:39. 90 121953 i @BiE() PIRRE 7:20. 42
2 1122 & HEREQ) BES 6:43. 56 13 1676 WL ¥k (2) Sl SEH 7:28.15
31231 & SHE(2) HEAH 6:56. 04 14 1232 Wil #EA Q) AT 7:36.25
4 1214 W BRE (D) AR 6:59. 95 15 1366 FnH miE (D) ik 7:43.12
5 1955 f&jE EAK(2) HIRRE 7:04. 22 16 1363 fi{f (1) HIEgded 7:51.77
6 1103 Hzx WEF3) HIEs=E 7:04. 99 17 1343 dekt vEK(2)  SIEERIH 7:55. 81
71112 %vE 3R @) IR sES 7:05. 62 18 1677 Ei FHE(Q) HIESEHF 7:55.92
8 1636 HH [E}(3) HIEKSET 7:07.33 19 1628 R KB5S SEH 8:07.55
9 1094 BEM ML (2) HIEEEF 7:08. 41 20 1136 FEF Bthi(1) @RS 8:09. 29
10 1682 J I 27 (3) HIRSEF 7:14. 46 21 1107 BEWS  KERH(2) SIEFEF 8:09. 38
111626 I35 AdE (1) S SER 7:15. 45 22 1804 WL H#E(1)  HIEERTEEW 8:29.71
T v TR 400m 800m 1000m 1200m 1600m
J N — 163 163 839 839 839
VRONZYINT i
EREZS 1:05 2:19 2:55 3:32 4:46
F N — 1213 846 846 846 1123
BALV=2 2%
EREES 1:08 2:32 3:13 3:54 5:15
TF N — 1639 1639 1639 1639 1639
PALV=2  3HH
ok 1:11 2:31 3:13 3:53 5:18
—
%%%IEJEE 10A7H 09:30 ¥ Wk
*® B
™ s = 1m20|  1m25| 1Im30] 1Im35] 1Im40| Im43| 1m46] 1m49 B
WL | o | TR m52| 1m55| 1m58| 1m61| 1m64| 1m67| 1m70 R
e Hvb — — — — — — —
1| 262 % KRB (2) TR — — — O x|o] |x|o] [x[x|x 1m67
A7 )7 — — — — — — —
2] TALf/NEEEEE (D) B B | — — — — @) x| X 1m64
e E oy — — — — O x|0] o
3| 261 1liR  ERER(2) T x| x| x 1m49
Ly B — — O X[ X0 X|O X | X|Of x| x| x
4] 1352|HR  HHE(2) pllb el 1m46
IRE I — — — O X| X | X
5] 1364f8n K R (1) HilE et 1m35




%%i%rpﬁﬁjk 10H7H 11:00 & B

IERL | +on' = |4 g 1= H 2l H RICIRE| 4[ml H 5B H 6= H FoEk
297 F ay 6m06 6m04 6m27 X 6m22 6ml1 6m27

1l 483))lm H () SIS T ¥ +1. 6 —0. 8 -1.1 +0. 1 +1.1 -1.1
AE A 6m10 X 6m16 6m07 5m99 X 6m16

2| 842|#)5  Bhth (2) SIS +1. 1 +1.2 +0. 2 -1.1 +1.2
YRR 5m87 5m72 5m75 5m19 5m48 X 5m87

3| T4olfkERE FnEE(2) IS B -1.1 +0. 3 0.0 -0.4 —0.6 -1.1
L X X 5ml13 5m50 X X 5m50

4| 1553 &R 2(2) =i —0.8 +1. 2 +1.2
3y{ *ayp 5m37 5ml19 5md1 5m38 5m14 5m40 5md1

5| G2l HHA HIK(©2) SR AL = 0.0 +1.8 +0. 6 -0.7 —0. 1 2.4 +0. 6
e T 4m93 4m73 5m09 4m85 4m69 5m06 5m09

6] 1539| T i (2) JE R -0. 1 -0.7 -0.5 +0. 7 -0. 4 +0. 9 -0.5
AL X 5m00 X 5m03 X X 5m03

7] 1621 A HE  fh3(2) B S m -0.4 +0. 4 +0. 4
TH Y L) X X 4m68 4m56 X X 4m68

8| 1075|118  #(2) B L5E op +0. 8 -2.7 +0. 8
APk X 4m31 4m53 4m53

9| 1591 KM HIkE(2) HI i S EE -0. 9 +0. 6 +0. 6
T b # 4m34 4m11 4m50 4m50

10| 1592] K#I o (2) Pl SHEH | 0.1 -1.0 -0.6 —0.6
prF k) 4m28 3m95 4m02 4m28

1] 1norPEEF () HIE = +2. 2 -0.5 +1.0 +2.2
ang Jagk X X 4m21 4m21

12| 1361KRME  smAX ) pillb e —1.4 —1.4
RTP Vay 3m21 3m36 4m18 4m18

13| 1594 |@fiH % (2) ISR | 0.3 -1. 1 +0. 9 +0. 9
¥y age 4m01 4m03 3m74 4m03

14] 3140/4£/#  {HEL(6) il N +0. 3 +0. 3 -1.0 +0. 3
VRN A 3m85 X X 3m85

15] 1114980 Eh (1) HIIE = +1.2 +1.2
WILT $0% 3m66 3m32 3m23 3m66

16| 1360[3AT  #Ek (1) Fllh e +0. 1 -0. 4 +0. 3 +0. 1
37°F 7Y 3m63 3m39 X 3m63

17) 1603|m B EFQD) ISR | +0.2 +1.1 +0. 2
Fhng X 3m63 X 3m63

18] 3040|415 i (6) 2 7 JERC +0. 3 +0. 3
Fhy 7 3m61 3m42 3m55 3m61

19| 160245k 2 PR SEFEH | +0.3 +0.5 +1.9 +0. 3
¥9) A 3m55 3m51 X 3m55

20| 1357 FEEF B (1) A -0.5 -0. 2 -0.5
¥ vany 3m36 3m26 3m50 3m50

21| 3121 K4 )5 K (6) o 1 JERC +0. 6 +1.0 +0. 1 +0. 1
T any 3m38 3m47 3m08 3m47

22| 1605|H0A  {EIK (1) PSR | +1.7 +0. 7 -1.0 +0. 7
vy by 2m98 X X 2m98

23] 1977/ JE (1) WP ESAT | +0.3 +0. 3




5B FraFLE (5. 000kg)

10A7H 10:00 ¥ Bk

AR | Fon - K4 g 1= H 2[Bl H 3[El H 4B H 5B H 6[ml H FoEk
EIELE
1| 18037 EHE (D PIEETZEW F | Tm98 9m58 7m86 8m16 8m62 8m50 9m58
vA) P
2| 1537|HEEF  jEAh (2) JE R 8m24 Tm26 m31 X 7ml3 Tm62 8m24
THET ¥ 2y
3| 1538|RF EEk (2) JE R 8m12 7m53 X 7m83 7ml14 Tm54 8m12
Avh vy
4| 17987 )1 = (2) SIBgETIEM R | Tmab Tm27 X 7m58 7m25 7m56 Tm58
¥t vany
5] 3121 K4 HE K (6) o - JERC 6m42 6m79 6m45 X X 6m96 6m96
{970 B %
6] 1982|FH% K7 (2) wPELZAT | 6m60 6m21 6m40 6m72 6m70 6m61 6m72
2L
7] 1188|E A Fizh(2) I 5 iy 5 6m04 6m62 6m72 6m34 6m26 6m23 6m72
VRS
8] 1187|FIK  AEE (2) 1| 5 ey 5 6m27 6ml4 6m38 5m81 6m00 6m02 6m38
EYRAT Valh
9| 1417ZEH KX (Q) BjEH 6m03 5m56 5m25 X 5m96 X 6m03
SV
10| 1822]95% #HA ) FEASUT A 6m00 5m56 5m65 5m88 5m53 5m63 6m00
78 F hn
11| 1104)@s7  HEQ) HIEg B 5m33 4m68 5m73 5m56 5m83 5m78 5m83
Yy kb
12 1102\ ilh T () HIIE = 5m52 5ml4 5m40 4m93 5m67 5m49 5m67
ESUANT
13| 1100)miE B (2) HIHE = 5m37 5m39 4m82 4m75 5m12 5m53 5m53
FhY Vay
14| 1137|{kE 4 (1) =R X 3m88 3m61 4m45 4m39 3m98 4m45
VAN 7
15] 30601k  FRK (6) B H /N 4m11 3m46 3m54 3m37 3m38 3m51 4ml1
B ruFL P (6. OOOkg) 10H7H 1000 % B
W B
AT | Fon = | K4 Bi: I EIRE| 28] B RIEINE 4[8] B 5[ H 6[a] H ERk
A B
1| 845\ TefE (D) ST R 11ml11 X 10m99 10m91 10m75 10m98 11ml1
ARTE Ak
2| 8418 HER(2) ST 9m55 X X Im48 10m27 10m74 10m74




